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quarters.  If the total value of the collection is $12, then 
how many coins of each type are there?

x
4x + 3dimes

quarters

# of coins 10(4x + 3) + 25x = 1200

65x = 1170
x = 18 

4x

value ¢
10(4x + 3)

25x
total 1200 ¢

40x + 30 + 25x = 1200
65x + 30 = 1200



General Algebra II  CWS #1     Unit 1
Solve each of the following word problems algebraically.  Show 
your process steps neatly organized.
17.  In a collection of ordinary dimes and quarters, the 
number of dimes is 3 more than 4 times the number of 
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piece.  How long is each piece?
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x

nickels
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your process steps neatly organized.
19.  A collection of sixty ordinary quarters and nickels is 
worth a total of $8.  How many coins of each type are 
there in the collection?

60 – x
x

nickels
quarters

# of coins 25x + 5(60 – x) = 800value ¢

5(60 – x)
25x

total 800 ¢
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Solve each of the following word problems algebraically.  Show 
your process steps neatly organized.
19.  A collection of sixty ordinary quarters and nickels is 
worth a total of $8.  How many coins of each type are 
there in the collection?

60 – x
x

nickels
quarters

# of coins 25x + 5(60 – x) = 800value ¢

5(60 – x)
25x

total 800 ¢

25x
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Solve each of the following word problems algebraically.  Show 
your process steps neatly organized.
19.  A collection of sixty ordinary quarters and nickels is 
worth a total of $8.  How many coins of each type are 
there in the collection?

60 – x
x

nickels
quarters

# of coins 25x + 5(60 – x) = 800value ¢

5(60 – x)
25x

total 800 ¢

25x +
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Solve each of the following word problems algebraically.  Show 
your process steps neatly organized.
19.  A collection of sixty ordinary quarters and nickels is 
worth a total of $8.  How many coins of each type are 
there in the collection?

60 – x
x

nickels
quarters

# of coins 25x + 5(60 – x) = 800value ¢

5(60 – x)
25x

total 800 ¢

25x + 300
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Solve each of the following word problems algebraically.  Show 
your process steps neatly organized.
19.  A collection of sixty ordinary quarters and nickels is 
worth a total of $8.  How many coins of each type are 
there in the collection?

60 – x
x

nickels
quarters

# of coins 25x + 5(60 – x) = 800value ¢

5(60 – x)
25x

total 800 ¢

25x + 300 –
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Solve each of the following word problems algebraically.  Show 
your process steps neatly organized.
19.  A collection of sixty ordinary quarters and nickels is 
worth a total of $8.  How many coins of each type are 
there in the collection?

60 – x
x

nickels
quarters

# of coins 25x + 5(60 – x) = 800value ¢

5(60 – x)
25x

total 800 ¢

25x + 300 – 5x
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Solve each of the following word problems algebraically.  Show 
your process steps neatly organized.
19.  A collection of sixty ordinary quarters and nickels is 
worth a total of $8.  How many coins of each type are 
there in the collection?

60 – x
x

nickels
quarters

# of coins 25x + 5(60 – x) = 800value ¢

5(60 – x)
25x

total 800 ¢

25x + 300 – 5x =
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Solve each of the following word problems algebraically.  Show 
your process steps neatly organized.
19.  A collection of sixty ordinary quarters and nickels is 
worth a total of $8.  How many coins of each type are 
there in the collection?

60 – x
x

nickels
quarters

# of coins 25x + 5(60 – x) = 800value ¢

5(60 – x)
25x

total 800 ¢

25x + 300 – 5x = 800



General Algebra II  CWS #1     Unit 1
Solve each of the following word problems algebraically.  Show 
your process steps neatly organized.
19.  A collection of sixty ordinary quarters and nickels is 
worth a total of $8.  How many coins of each type are 
there in the collection?

60 – x
x

nickels
quarters

# of coins 25x + 5(60 – x) = 800value ¢

5(60 – x)
25x

total 800 ¢

25x + 300 – 5x = 800
20x
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Solve each of the following word problems algebraically.  Show 
your process steps neatly organized.
19.  A collection of sixty ordinary quarters and nickels is 
worth a total of $8.  How many coins of each type are 
there in the collection?

60 – x
x

nickels
quarters

# of coins 25x + 5(60 – x) = 800value ¢

5(60 – x)
25x

total 800 ¢

25x + 300 – 5x = 800
20x +
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Solve each of the following word problems algebraically.  Show 
your process steps neatly organized.
19.  A collection of sixty ordinary quarters and nickels is 
worth a total of $8.  How many coins of each type are 
there in the collection?

60 – x
x

nickels
quarters

# of coins 25x + 5(60 – x) = 800value ¢

5(60 – x)
25x

total 800 ¢

25x + 300 – 5x = 800
20x + 300



General Algebra II  CWS #1     Unit 1
Solve each of the following word problems algebraically.  Show 
your process steps neatly organized.
19.  A collection of sixty ordinary quarters and nickels is 
worth a total of $8.  How many coins of each type are 
there in the collection?

60 – x
x

nickels
quarters

# of coins 25x + 5(60 – x) = 800value ¢

5(60 – x)
25x

total 800 ¢

25x + 300 – 5x = 800
20x + 300 =



General Algebra II  CWS #1     Unit 1
Solve each of the following word problems algebraically.  Show 
your process steps neatly organized.
19.  A collection of sixty ordinary quarters and nickels is 
worth a total of $8.  How many coins of each type are 
there in the collection?

60 – x
x

nickels
quarters

# of coins 25x + 5(60 – x) = 800value ¢

5(60 – x)
25x

total 800 ¢

25x + 300 – 5x = 800
20x + 300 = 800



General Algebra II  CWS #1     Unit 1
Solve each of the following word problems algebraically.  Show 
your process steps neatly organized.
19.  A collection of sixty ordinary quarters and nickels is 
worth a total of $8.  How many coins of each type are 
there in the collection?

60 – x
x

nickels
quarters

# of coins 25x + 5(60 – x) = 800

20x

value ¢

5(60 – x)
25x

total 800 ¢

25x + 300 – 5x = 800
20x + 300 = 800



General Algebra II  CWS #1     Unit 1
Solve each of the following word problems algebraically.  Show 
your process steps neatly organized.
19.  A collection of sixty ordinary quarters and nickels is 
worth a total of $8.  How many coins of each type are 
there in the collection?

60 – x
x

nickels
quarters

# of coins 25x + 5(60 – x) = 800

20x =

value ¢

5(60 – x)
25x

total 800 ¢

25x + 300 – 5x = 800
20x + 300 = 800



General Algebra II  CWS #1     Unit 1
Solve each of the following word problems algebraically.  Show 
your process steps neatly organized.
19.  A collection of sixty ordinary quarters and nickels is 
worth a total of $8.  How many coins of each type are 
there in the collection?

60 – x
x

nickels
quarters

# of coins 25x + 5(60 – x) = 800

20x = 500

value ¢

5(60 – x)
25x

total 800 ¢

25x + 300 – 5x = 800
20x + 300 = 800
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Solve each of the following word problems algebraically.  Show 
your process steps neatly organized.
19.  A collection of sixty ordinary quarters and nickels is 
worth a total of $8.  How many coins of each type are 
there in the collection?

60 – x
x

nickels
quarters

# of coins 25x + 5(60 – x) = 800

20x = 500
x

value ¢

5(60 – x)
25x

total 800 ¢

25x + 300 – 5x = 800
20x + 300 = 800
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Solve each of the following word problems algebraically.  Show 
your process steps neatly organized.
19.  A collection of sixty ordinary quarters and nickels is 
worth a total of $8.  How many coins of each type are 
there in the collection?

60 – x
x

nickels
quarters

# of coins 25x + 5(60 – x) = 800

20x = 500
x =

value ¢

5(60 – x)
25x

total 800 ¢

25x + 300 – 5x = 800
20x + 300 = 800
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Solve each of the following word problems algebraically.  Show 
your process steps neatly organized.
19.  A collection of sixty ordinary quarters and nickels is 
worth a total of $8.  How many coins of each type are 
there in the collection?

60 – x
x

nickels
quarters

# of coins 25x + 5(60 – x) = 800

20x = 500
x = 25 

value ¢

5(60 – x)
25x

total 800 ¢

25x + 300 – 5x = 800
20x + 300 = 800
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Solve each of the following word problems algebraically.  Show 
your process steps neatly organized.
19.  A collection of sixty ordinary quarters and nickels is 
worth a total of $8.  How many coins of each type are 
there in the collection?

60 – x
x

nickels
quarters

# of coins 25x + 5(60 – x) = 800

20x = 500
x = 25 

60

value ¢

5(60 – x)
25x

total 800 ¢

25x + 300 – 5x = 800
20x + 300 = 800
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Solve each of the following word problems algebraically.  Show 
your process steps neatly organized.
19.  A collection of sixty ordinary quarters and nickels is 
worth a total of $8.  How many coins of each type are 
there in the collection?

60 – x
x

nickels
quarters

# of coins 25x + 5(60 – x) = 800

20x = 500
x = 25 

60 –

value ¢

5(60 – x)
25x

total 800 ¢

25x + 300 – 5x = 800
20x + 300 = 800
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Solve each of the following word problems algebraically.  Show 
your process steps neatly organized.
19.  A collection of sixty ordinary quarters and nickels is 
worth a total of $8.  How many coins of each type are 
there in the collection?

60 – x
x

nickels
quarters

# of coins 25x + 5(60 – x) = 800

20x = 500
x = 25 

60 – x

value ¢

5(60 – x)
25x

total 800 ¢

25x + 300 – 5x = 800
20x + 300 = 800
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Solve each of the following word problems algebraically.  Show 
your process steps neatly organized.
19.  A collection of sixty ordinary quarters and nickels is 
worth a total of $8.  How many coins of each type are 
there in the collection?

60 – x
x

nickels
quarters

# of coins 25x + 5(60 – x) = 800

20x = 500
x = 25 

60 – x =

value ¢

5(60 – x)
25x

total 800 ¢

25x + 300 – 5x = 800
20x + 300 = 800
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Solve each of the following word problems algebraically.  Show 
your process steps neatly organized.
19.  A collection of sixty ordinary quarters and nickels is 
worth a total of $8.  How many coins of each type are 
there in the collection?

60 – x
x

nickels
quarters

# of coins 25x + 5(60 – x) = 800

20x = 500
x = 25 

60 – x = 35

value ¢

5(60 – x)
25x

total 800 ¢

25x + 300 – 5x = 800
20x + 300 = 800



General Algebra II  CWS #1     Unit 1
Solve each of the following word problems algebraically.  Show 
your process steps neatly organized.
19.  A collection of sixty ordinary quarters and nickels is 
worth a total of $8.  How many coins of each type are 
there in the collection?

60 – x
x

nickels

There are 25 quarters

quarters
# of coins 25x + 5(60 – x) = 800

20x = 500
x = 25 

60 – x = 35

value ¢

5(60 – x)
25x

total 800 ¢

25x + 300 – 5x = 800
20x + 300 = 800
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Solve each of the following word problems algebraically.  Show 
your process steps neatly organized.
19.  A collection of sixty ordinary quarters and nickels is 
worth a total of $8.  How many coins of each type are 
there in the collection?

60 – x
x

nickels

There are 25 quarters and 35 nickels.

quarters
# of coins 25x + 5(60 – x) = 800

20x = 500
x = 25 

60 – x = 35

value ¢

5(60 – x)
25x

total 800 ¢

25x + 300 – 5x = 800
20x + 300 = 800
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Solve each of the following word problems algebraically.  Show 
your process steps neatly organized.
19.  A collection of sixty ordinary quarters and nickels is 
worth a total of $8.  How many coins of each type are 
there in the collection?

60 – x
x

nickels

There are 25 quarters and 35 nickels.

quarters
# of coins 25x + 5(60 – x) = 800

20x = 500
x = 25 

60 – x = 35

value ¢

5(60 – x)
25x

total 800 ¢

25x + 300 – 5x = 800
20x + 300 = 800
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20.   Find six consecutive integers whose sum is 333.
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x

x + 2
x + 1

x + 4
x + 3

1st :
2nd :
3rd :
4th :
5th :
6th :



General Algebra II  CWS #1     Unit 1
Solve each of the following word problems algebraically.  Show 
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Solve each of the following word problems algebraically.  Show 
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20.   Find six consecutive integers whose sum is 333.
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x + 2
x + 1
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x + 3
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Solve each of the following word problems algebraically.  Show 
your process steps neatly organized.

20.   Find six consecutive integers whose sum is 333.
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x + 1

x + 4
x + 3
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Solve each of the following word problems algebraically.  Show 
your process steps neatly organized.

20.   Find six consecutive integers whose sum is 333.
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x + 2 6x +
x + 1

x + 4
x + 3
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x + 4
x + 3
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20.   Find six consecutive integers whose sum is 333.
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x + 1

x + 4
x + 3

x + 5

1st :
2nd :
3rd :
4th :
5th :
6th :



General Algebra II  CWS #1     Unit 1
Solve each of the following word problems algebraically.  Show 
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20.   Find six consecutive integers whose sum is 333.

x

x + 2 6x + 15 = 333
x + 1

x + 4
x + 3

x + 5
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Solve each of the following word problems algebraically.  Show 
your process steps neatly organized.

20.   Find six consecutive integers whose sum is 333.

x

x + 2 6x + 15 = 333
x + 1

x + 4
x + 3

x + 5
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3rd :
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5th :
6th :
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Solve each of the following word problems algebraically.  Show 
your process steps neatly organized.

20.   Find six consecutive integers whose sum is 333.

x

x + 2 6x + 15 = 333
6x

x + 1

x + 4
x + 3

x + 5

1st :
2nd :
3rd :
4th :
5th :
6th :
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Solve each of the following word problems algebraically.  Show 
your process steps neatly organized.

20.   Find six consecutive integers whose sum is 333.

x

x + 2 6x + 15 = 333
6x =

x + 1

x + 4
x + 3

x + 5
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3rd :
4th :
5th :
6th :
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Solve each of the following word problems algebraically.  Show 
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20.   Find six consecutive integers whose sum is 333.
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x + 3

x + 5

1st :
2nd :
3rd :
4th :
5th :
6th :



General Algebra II  CWS #1     Unit 1
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20.   Find six consecutive integers whose sum is 333.
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x + 2 6x + 15 = 333
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Solve each of the following word problems algebraically.  Show 
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20.   Find six consecutive integers whose sum is 333.
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x + 2 6x + 15 = 333
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Solve each of the following word problems algebraically.  Show 
your process steps neatly organized.

20.   Find six consecutive integers whose sum is 333.

x

x + 2 6x + 15 = 333

x = 53 
6x = 318

x + 1

x + 4
x + 3

x + 5

1st :
2nd :
3rd :
4th :
5th :
6th :
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Solve each of the following word problems algebraically.  Show 
your process steps neatly organized.

20.   Find six consecutive integers whose sum is 333.
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6x = 318

x + 1

x + 4
x + 3

x + 5
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Solve each of the following word problems algebraically.  Show 
your process steps neatly organized.

20.   Find six consecutive integers whose sum is 333.

x

x + 2

The numbers are 53, 

6x + 15 = 333

x = 53 
6x = 318

x + 1

x + 4
x + 3

x + 5

1st :
2nd :
3rd :
4th :
5th :
6th :
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Solve each of the following word problems algebraically.  Show 
your process steps neatly organized.

20.   Find six consecutive integers whose sum is 333.

x

x + 2

The numbers are 53, 54, 

6x + 15 = 333

x = 53 
6x = 318

x + 1

x + 4
x + 3

x + 5

1st :
2nd :
3rd :
4th :
5th :
6th :
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Solve each of the following word problems algebraically.  Show 
your process steps neatly organized.

20.   Find six consecutive integers whose sum is 333.

x

x + 2

The numbers are 53, 54, 55, 

6x + 15 = 333

x = 53 
6x = 318

x + 1

x + 4
x + 3

x + 5

1st :
2nd :
3rd :
4th :
5th :
6th :
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Solve each of the following word problems algebraically.  Show 
your process steps neatly organized.

20.   Find six consecutive integers whose sum is 333.

x

x + 2

The numbers are 53, 54, 55, 56, 

6x + 15 = 333

x = 53 
6x = 318

x + 1

x + 4
x + 3

x + 5

1st :
2nd :
3rd :
4th :
5th :
6th :
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Solve each of the following word problems algebraically.  Show 
your process steps neatly organized.

20.   Find six consecutive integers whose sum is 333.

x

x + 2

The numbers are 53, 54, 55, 56, 57, 

6x + 15 = 333

x = 53 
6x = 318

x + 1

x + 4
x + 3

x + 5

1st :
2nd :
3rd :
4th :
5th :
6th :



General Algebra II  CWS #1     Unit 1
Solve each of the following word problems algebraically.  Show 
your process steps neatly organized.

20.   Find six consecutive integers whose sum is 333.

x

x + 2

The numbers are 53, 54, 55, 56, 57, and 58.

6x + 15 = 333

x = 53 
6x = 318

x + 1

x + 4
x + 3

x + 5

1st :
2nd :
3rd :
4th :
5th :
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Solve each of the following word problems algebraically.  Show 
your process steps neatly organized.

20.   Find six consecutive integers whose sum is 333.

x

x + 2

The numbers are 53, 54, 55, 56, 57, and 58.

6x + 15 = 333

x = 53 
6x = 318

x + 1

x + 4
x + 3

x + 5

1st :
2nd :
3rd :
4th :
5th :
6th :
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Solve each of the following word problems algebraically.  Show 
your process steps neatly organized.

20.   Find six consecutive integers whose sum is 333.

x

x + 2

The numbers are 53, 54, 55, 56, 57, and 58.

6x + 15 = 333

x = 53 
6x = 318

x + 1

x + 4
x + 3

x + 5

1st :
2nd :
3rd :
4th :
5th :
6th :

Good luck on your worksheet #1.






